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1 | L LBET+=EFHE 47 gl 1,543. 00 42,210 4,412,980

2 |t EET+=EFHE 286-5 Eih 76.18 2,064 217,875

3 | tERT+=IEFRIE 289 Eih 269. 00 6, 745 769, 340

4 |t EET+=EFRAE 290 Eih 667. 67 16, 741 1,909, 536

5 |t ERT+=IEF R 348-4 Eih 399.08 11, 565 1,712,053

6 |t EET+=EF3r# 30 Eith 242.85 1,857 1,041,827 | #IRRHY
7 | At LB+ =& 31 Eith 222.68 7,205 955,297 | fIRRH Y
8 | bt ERT+=/EFir# 33 Eith 1,414.06 45, 750 6,066,317 | HIRHY
9 | dtEET+=EFIL 45 HEFEM 246.00 1,329 1,055,340 | #IRHY
10 | db EBT+= &= 37 %4 51 Eith 617.85 19,990 2,650,577 | WHIRHY
11 | b EBT+ =& 37 %4 53 HEFEM 125.00 3,724 536,250 | IR Y
12 | AL LBT+= B30 72-7 Eih 105. 43 4,264 452,295 | IR Y
13 | At EET+=EF3I ¢ 72-8 Eih 65. 06 2,631 279,107 | WHIFRHY
14 | db LBT+ =& 308 73-1 bl 197.00 7,968 845,130 | HIRHY
15 | dt EET+=EF 3L 73-2 Eih 794. 35 32,128 3,407,762 | HIR&HY
16 | db LBT+ =& 308 74-1 Eih 2176. 41 11,180 1,185,799 | fIfEH Y
17 | At LB+ =EF 3L 74-3 Eih 819. 39 33, 141 3,515,183 | wIRR&H Y
18 | AL LBT+=;EF 314 74-6 Eith 69. 53 2,812 298,284 | HIRH Y
19 | b EBT+=EFI s 74-7 bl 180. 00 1,280 772,200 | f#IRR&H Y
20 | b EBT+ =R 75-1 Eith 64. 71 2,617 271,606 | IR Y
21 | Ak EBT+=REFIIM 75-3 Eith 361.09 14, 605 1,549,076 | #IRHY
22 | Ak EBT+=RFII 75-4 Eith 481.26 19, 465 2,064,605 | fHIBRHY
23 | Ak EBT+ =R 76-1 Eith 356. 84 14, 433 1,530,844 | HIRHY
24 | db EHT+= RSP 76-3 bl 101.00 4,085 433,290 | IR Y
25 | db BT+ =R 771 Eih 416. 70 16, 854 1,787,643 | IR Y
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26 | b ERT+= R 77-3 bl 134.00 5,420 574,860 | IR Y
27 | At EBT+=R=FII M 78-2 Eith 130. 71 5,287 560, 746 | HIFRH Y
28 | b EHT+=E=F3I 78-3 bl 569. 00 23,014 2,441,010 | #HIRHY
29 | b LT+ = RSP 79-2 Eih 298. 29 12, 065 1,279,664 | IR Y
30 | b EHT+ = EF 3 102-1 Eih 485. 60 14, 467 2,083,224 | HIRHY
31 | b EHBT+=REFII R 124-1 Eih 460. 50 18, 625 1,975,545 | IR Y
32 | Ak EHT+= RSP 124-8 Eih 107. 40 4,344 460,746 | HIRH Y
33 | At EHT+=REFIIM 124-9 Eih 185.00 7,483 793,650 | fHIBRSH Y




